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Class six pupils of Kanjora primary school
set up an experiment during the day as
shown below. They then left the set - up for
some time after which they observed a gas
collecting in the glass,
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Which one of the following process is the

gas likely to be used for?

A. Photosynthesis.

B. Extinguishing fire

C. Adding nutrients to the soil by.some
plants.

D. Buming

Nduriri was driving along a road In his car.

A child runs out infront of him. He applies

his brakes and comes to a sudden stop. In

what direction does’his body tend to move

when the brakes are first applied?

A. Forwards B. From right to left

C. Backwards D. From left to right

The part of the breathing system which is

kept open by hard C-shaped rings is the:-

A, Air sacs B. Trachea

C. Oesophagus D. Bronchus

Which one of the following groups of animals

are correctly classified?

A. Bee, beetle and scorpion

8, Grasshopper, cockroach and moth

C. Moth, butterfly and tick.

D. Spider, weevil and flea

Some pupils set up an experiment as shown

in the diagram below.

_p— Metallie Lid
,..—-Ewl"? Can

..r-—D,(t’ Waler

3%“‘””‘

14.

18.

16.

17.

Which one of the following observations

would not be noted in the experiment?

A.Some droplets would be formed under
the lid.

B. There would be pure water in the can.

C. The cold water would become warm,

D. The amount of dirty water would not
change,

The ability of a type of soil to allow water to

pass through it is known as:-

A. soil capillarity

B, drainage

C. Water retention abiity

D. Soil texture

Two candles were balanced with one candle

on a metre rule as shown in the diagram

below. The candles were then lit at the same

time
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If 2ll the candies were burning at the same

rate, which ofthe following cbservations is

CORRECT?

A, The metre ruler tilted towards the side
with two candles.

B. The metre ruler tilted towards the suie
with one candle.

C. The set-up remained balanced.

D. The two candles burnt for a longer time

Class seven matched the following parasites

to their effects on the animals, Which one

did they match wrongly?

A. Tapeworms Liver bleeding

B. Fleas Skin irritation

C. Mites Skin damage

D. Round worms Swollen belly

Which of the following statements are TRUE

about the heart?

(1) The heart has four chambers

(il) The aurlcles pump blood out of the

heart

(iii) The ventricles receive blood into the
heart

(iv) The left ventricle is connected to the
aorta

(v) The right auricle is connected to the
venacava

A i iv,andv B. i, i, iii, ivand V

C.ivandv D. ii and iii
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Which of the following animals will be

mostly affected by water poliution?

A. Chameleon B. Kangaroo

C. Fish D. Frog

Which one of the following DOES NOT

pollute river water?

A. Releasing treated sewage water into the
river.

B. Spraying of crops with pesticides.

C. Cultivating along river banks

D. Use of fertilizers in the farm

Which one of the foliowing DOES NOT

function the same way as bicycle dynamo

when used to produce electricity?

A. Hydro electric generator

B. Car battery

C. Diesel generator

D. Wind driven turbines

The diagram below shows a method used

by Wachira to get clean water from muddy

water?

What materials make up the parts labelled

M, N, 0 and P respectively.

A. Fine sand,coarse sand, charcoal and
pehbles

B. Pebbles, coarse sand. fine sand,
charcoal

C. Fine sand, Charceal, coarse sand,
pebbies

D. Coarse sand, fine sand, pebbies,
charcoal

In which of the following levers is load at the
centre?
A. Crowbar B. Spade

C. Wheelbarrow D. Claw hammer .
Which one of the following is NOT an
adaptation of plants in wet areas?

A. Thin cuticle

B. Flexible stems

C. Increased number of stomata

D. Thick cuticle
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Which one of the following is NOT an
example of organic refuse?

A.Food left overs

B. Vegetable peelings

C. Fruits peelings

D. Broken glass

Which one of the following statements is
INCORRECT?

A. Legumes are sources of proteins.

B. Carbohydrates are enerqy giving foods.
C. Breast milk is a balanced diet '

D. Babies can easily digest cow's milk
Which one of the foliowing weeds develops
small yellow flowers and produces a very
strong unpleasant smell especially when
cut?

A, Oxalis B. Blackjack

C. Wandering jew  D. Mexican marigold
Which one of the following is a natural way
of lighting 2 house? Using a

A.Candle

B. Transparent roof

C. Torch

D. Hurricane lamp .

The shiny outer surface of a spoon makes
our faces appear '

A. Facing up B. Small

C. Facing down D. Unique

Which one of the following statements about
sweat giands is NOT correct? They

A Are located in the epidermis

B. Are surrounded by blood capillaries.

C. Produce salts and water.

D. Store sweat.

30. The following are descriptions of types of

1.

-(iii) Short conical

beaks:-
(i) Long slender (i) Long serrated
(iv) Strong curved

Which types of beaks are for grains eaters

and nectar feeders respectivaly?
A. ivandii B.iiiand |
C.iiandii D.iand iv

Which one of the following practices would
NOT prevent food poisoning ? To

A. Ensure food stores have a mesh

B. Check expiry date of the product.

-C. Warm left over food before storage.

D. Aliow frozen foods 1o thaw,
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